
Soluții	
  	
  

Clasa	
  a	
  VII	
  –	
  a	
  

	
  

1) 𝑥! − 2𝑥𝑦 + 𝑦! + 𝑦! − 2𝑦𝑧 + 𝑧! = 2 ⇒ (𝑥 − 𝑦)! + (𝑦 − 2)! = 2	
  

⇒ 𝑥 − 𝑦 = ±1	
   	
   	
  𝑦 − 𝑧 = ±1	
   	
   ⇒ 𝑦 = 𝑧 ± 1	
  

𝑥 = 𝑦 ± 1 = 𝑧 ± 1 ± 1 ⇒ 𝑥 + 𝑦 + 𝑧 = 3𝑧 ± 1 ± 1 ± 1 = 2015	
  	
  

⇒ 3𝑧 = 2015 ± 1 ÷ 1 ± 1 ∈ 2012,… , 2018 ; 3𝑧 ⋮ 3 ⇒	
  	
  

⇒ 2015 ± 1 ± 1 ± 1 ⋮ 2 ⇒ 3𝑧 = 2016 ⇒ 𝑧 = 672	
  	
  

⇒ 𝑧 = 672, 𝑦 = 671; 𝑥 = 672	
  	
  

	
  

2) a)	
  Dacă	
  6 − 2  𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑖𝑣   ⇒ 6 𝑥! + 1 … 𝑥! + 1 = 2𝑥! + 1 … (2𝑥! + 1) ⇒ 𝑝𝑎𝑟 = 𝑖𝑚𝑝𝑎𝑟  (𝑓𝑎𝑙𝑠)	
  

b)	
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!
∙ !
!
∙ !
!
;	
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∙ !"
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c)	
  2015 = 5 ∙ 13 ∙ 31	
  
Rămâne	
  să	
  demonstrăm	
  că	
  31	
  	
  este	
  q	
  -­‐	
  productiv	
  	
  

31 = !∙!"!!
!"!!

   ∙   !
!∙!"!!
!∙!"!!

   ∙ !
!∙!"!!
!!∙!"!!

   ∙   !
!∙!"!!
!!∙!"!!

∙ !
!∙!"!!
!!∙!"!!

	
  	
  

⇔ 31! = 32 ∙ 30 + 1⇔ 31 = 31 + 1 31 − 1 + 1⟺	
  	
  
31 = 31 − 1 + 1⇔ 34! = 31!	
  	
  
	
  

3) 	
  

	
  
Ducem	
  𝐴𝑀 ⊥ 𝐵𝐶.	
  	
  
Notăm	
  𝑇𝐶 = 𝑥,𝑀𝑇 = 𝑦 ⇒ 𝐵𝑀 = 𝑥 + 𝑦	
  
∆𝐴𝐵𝐶,𝐷 − 𝑇 − 𝐹  𝑡𝑟𝑎𝑛𝑠𝑣𝑒𝑟𝑠𝑎𝑙𝑎	
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𝐷𝑎𝑟  𝐴𝐷 = 𝐶𝐸 ⇒ !"
!"
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𝐸𝑇 ∥ 𝐴𝑀	
  Dar	
  𝐴𝑀 ⊥ 𝐵𝐶 ⇒ 𝐸𝑇 ⊥ 𝐵𝐶	
  



4) 	
  

	
  

Fie	
  𝑁 ∈ 𝐴𝐶   ș𝑖  𝑆 ∈ 𝐴𝐵   𝑎𝑠𝑡𝑓𝑒𝑙  î𝑛𝑐â𝑡   𝐴𝑁 ≡ 𝐴𝐹   ș𝑖   𝐴𝐸 ≡ 𝐴𝑆 	
  

∆  𝐴𝐸𝐶  ℕ  ∆  𝐴𝐹𝐵 𝑈.𝑈 ⇒ !"
!"
= !"

!"
⇒	
  	
  

!"
!"

= !"
!"
   𝐴𝐹 ≡ 𝐴𝑁 ;   𝐵𝐴𝐶 ≡ 𝑁𝐴𝐸 ⇒	
  	
  

⇒ ∆  𝐴𝐵𝐶  ℕ  ∆  𝐴𝑁𝐸 ⇒ ∡  𝐴𝑁𝐸 ≡ ∡𝐴𝐵𝐶 ⇒	
  	
  

𝑚   ∡  𝐸𝑁𝐶 = 180! −𝑚   ∡  𝐴𝐵𝐶 = 𝑚   ∡𝐵𝐴𝐶 +𝑚   ∡  𝐵𝐶𝐴 =	
  	
  

= 𝑚   ∡𝐵𝐶𝐴 +𝑚   ∡𝐵𝐶𝐷 = 𝑚  (∡𝐴𝐶𝐷) ⇒ 𝑁𝐸 ∥ 𝐷𝐶	
  (1)	
  

∆  𝐴𝑁𝐸  ℕ  ∆  𝐴𝐵𝐶 ⇒ !"
!"

= !"
!"

∆  𝐴𝐹𝐵  ℕ  ∆  𝐷𝐶𝐵 ⇒ !"
!"
= !"

!"

⇒ !"
!"

= !"
!"
	
  	
  

	
  

𝐷𝑎𝑟  𝐴𝑁 ≡ 𝐴𝐹 ⇒ 𝑁𝐸 ≡ 𝐷𝐶	
  (2)	
  

Din	
  1	
  și	
  2	
  ⇒ 𝐶𝐷𝑁𝐸  𝑝𝑎𝑟𝑎𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚   ⇒ 𝑃  𝑚𝑖𝑗𝑙𝑜𝑐𝑢𝑙  𝑙𝑢𝑖  (𝑁𝐶)	
  

⇒ 𝑃𝑀  𝑙.𝑚. î𝑛  ∆  𝐵𝐸𝑁 ⇒ 𝑀𝑃 = !"
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𝑎𝑛𝑎𝑙𝑜𝑔  𝑀𝑄 = !"
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